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Topic:- General Studies

1) Which country recently passed the Hindu Marriage Bill? / f&a a'EZT 3 G g’f i f%g ﬁﬂ'l? fdus
iR # fear 82

1. Bangladesh/ CLGIGR
2. Pakistan / OTfdea™
3. Bhutan/ 4cH

4. Nepal/ﬁW

Correct Answer :-

e Pakistan / UTfib &=

2) If the angles of a triangle are in the ratio 1:2:3 then the greatest angle’s measure is .

R AYT F AN 123 F AU AE NI T HUS AT gl
1. 180°
2. 30°
3. 120°

4. 90°

Correct Answer :-

e 90°

3) Choose the correct form of expression to complete the sentence:
The story of a nation is the of its people.
1. biography

2. autography


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ALL EXAMS,
‘ ONE SUBSCRIPTION |
@
70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
Previous Year 500%

ATTEMPT FREE MOCK NOW


https://www.adda247.com/product-testseries/79075/test-prime?productId=79076
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3. autobiography
4, description

Correct Answer :-

« biography

4) 999 & fra A g &2
1.1
2.2
3.3
4.4

Correct Answer :-

.2

5) Choose the correct form of tense for the given sentence:

The Hooghly  into the Bay of Bengal.
1. will flow

2. has flowed

3. is flowing

4. flows

Correct Answer :-

e flows

6) “Ug wfedl A aeft sn < R
e Weg 1 fau MY fraa == 7 W)

1. gOIet

2. JUUTet

3. gRUTet

4, TRUTCT

Correct Answer :-
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. gRurct

7) Find the capacity of a milk tank, if its height is 4 m and its radius is 2.1 m. / U® gU @I @t

P T Td oY, afe THB Sars 4 Y vd sHa! Bwar 2.1 # 21
1. 554m? / 554912

2. 55.44m° / 55 4471

3. 55.44m / 55.44¥7
4. 5544m> | 5544H13
Correct Answer :-

e 55.44m° / 55.44W1

8) Which of the following should be subtracted from -25 to get -48? / - 48 UTtd 1 P forw
Frafafea o 3 5w -25 ° 9 germn aifige?

1.-23

2. 23

4.-73

Correct Answer :-

e 23

9) Where was the Camel Festival held on 14" January, 2017?/ 14 Sast 2017 B VR q@?\‘ﬁ ﬁf
Smafora fasar rar >t

1. Gujarat/ eIRId
2. Punjab / USTg
3. Rajasthan / ISR

4, Assam/ 3IH

Correct Answer :-

» Rajasthan /ISR

10) Common chemical preservative used in jams & squashes is / S 3R YR g1 WGaw |
SUHNT g1 aTeT AT TS TR 3

1. Sodium carbonate /@%mmaﬁz
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2. Sodium bicarbonate/ﬂ-ﬂ%’fq’ﬁfEI'Ig?iv_Iaﬁel_Cr

3. Acetic acid /W 3T
4. Sodium benzoate / QITSTH S9IUC

Correct Answer :-

« Sodium benzoate /mm

11 | / e .
) Givenc?= ”49yz,expressyin terms ofc./ﬁ'ETfEc2=‘“4gY2,ca?q?ﬁﬁyaﬁWﬁl

__[g
1 7
b7
2.7 ¢
_Le)
3.} 7
_,=(—?}
4.} c

Correct Answer :-

(o)
T
12) The price of tea is Rs. 150 per kg. Last year, it was Rs. 120 per kg. The increase is %. / 19 DI
¥ 150 & Ufa foren 31 fUod adf, ag 120 = ufa fpet an gfS %8I
1. 20
2.40
3.25
4. 30

Correct Answer :-

13) T R UPR Y AT 82
1. Tfadard®d
2. Jifdarae

3. HIdd[dd

4. QHgATIH
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Correct Answer :-

GET IT ON
Google Play

14) Natural source of light among the following is

_____®l

1. firefly / [T
2. electric bulb / ﬁ@ﬁac_d
3. laser / Ao

4. candle / el

Correct Answer :-

» firefly / T

/e YA yem o1 wietde did

15) Choose the option that picks out all the nouns in the sentence:

The trees can't be grown in such a cold climate as ours.

1. trees

2. trees, climate

3. trees, cold

4. climate

Correct Answer :-

« trees, climate

16) If CLINICis coded ENKPKE, then how is DOCTOR coded? / Gf¢ cLINIC ) ENKPKE | PIfSd

fopaT ST 8, 9 DoCcTOR B A Bifsd fpar WA

1. FQeuQr

2. FREVRT

3. FQevQr

4. FQEUQS

Correct Answer :-

e FQEVQT

17)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

“JIIRATHD HTAaTs! Bt UfhdT & BeRa=U Ug | -a Iav-1 & foe Frafafed el d
DI T Weg TIH g1 82

1. Ut

2. gardfc
3. Uarafy
4. UeraHfd

Correct Answer :-

18) Choose appropriate articles for the given sentence:

Instead of orange, she had bowl of cereal with milk for breakfast this
morning.

l.a,a
2. an, the
3. the, an

4. an, a

Correct Answer :-

19) Which state has collaborated with Make My Trip to promote its home stay scheme? / foa wsg

3T B R TS B FeTaT &1 & forg A AT feur @ T forn 82
1. Chhattisgarh/@_'\'ﬂm

2. Gujarat/ 7JSIRTd
3. Madhya Pradesh/ e iealo Tl

4, Bihar/]%lgﬂ

Correct Answer :-

e Madhya Pradesh/ Y

20) In a certain language dim dam dolpet means fish is tasty and brim crim dim means very tasty food.
Then in that language the word dim is used for: / fopdt @y MTuT ﬁ, dim dam dolpet BT Hddd %ﬁsh
is tasty 3R brim crim dim @1 AdAd % very tasty food | T I HTUT | dim Roq BT TIHT 3'\‘1% fora
o T 3:

1. Tasty


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

2. Food

3. Fish

4. 1Is

Correct Answer :-

21) Choose the appropriate prepositions for the given sentence:

I told mom that we'd be home _ an hour or so, but we got late
1. under, with

2. in, by

3. at, for

4. until, with

Correct Answer :-

GET IT ON
Google Play

another hour.

22) |dentify the substance that a matchstick cannot light it easily. / 3 tIETQf Ca) 'QE?ITIEI'Q, il

TS A1 $t el A STed) A YD1 781 51 Shal o
1. Paper / DTS

2. Kerosene oil / flEI &1 dd

3. Alcohol / Ueblgd

4, Cow dung cakes / 3UdII gqr b al

Correct Answer :-

e Cow dung cakes / 3UdI gr b al

23) The supply of water to crops at appropriate intervals is called

S SfTRTd WR o1 Bt 3MYfed Feamdi gl
1. irrigation /ﬁ.ﬁ_ﬂ_’ic

2. sowing/§\3'|'|_5£

3. harvesting / ¥ @t (BRAfEM

4. cultivation / P 4R
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Correct Answer :-

e irrigation /@Fﬂ'ﬁc

24) The tax collections of cities A and B were equal in 2000-01. In 2001-02, it increased by 5% in city A
and by 4% in city B. In 2002-03, it increased by 4% in city A and by 5% in city B. At the end of 2003, the
tax collection of city A: / 2000-01 o TG A ARBH W-WUT TRTER A1 2001-02 ﬁ, TG A o g 5%
TP 9¢ 7T 3N XER B H 4% db ¢ AT 2002-03 H, ST A W UE 4% dP g¢ 74T 3R e B H
5% AP TG TTI 2003 & 3d |, G A BT HI-GUGU:

1. would be greater than that of city B/ RIGX B ﬁ_g’a:ﬂﬁ s él‘l I

2. would be less than that of city B / [I&X B 1 NG o &HH g |

3. would be equal to that of city B/ RIgX B P T él‘l |

4. with respect to that of city B cannot be determined / R[gX B ¥ geu ¥ fAuffa q?ﬁﬁ?_ﬁﬂ ST b dT|

Correct Answer :-

» would be equal to that of city B / RIgX B P T él‘l |

25) Complete the sentence choosing the right option:

He will be taken back he apologises to the other player.

1. although

2. provided

3. in order that
4. because

Correct Answer :-

« provided

Topic:- Ophthalmic Assistant

1) Among all types of adult glaucomas, primary open angle glaucoma is seen in AL
UHR & T TH T arel A4l 9 9, & rgT ST T BT T ST 2|
1. 10-20%

2. 20-30%

3. 40-50%

4. 60-70%
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Correct Answer :-
e 60-70%

2) Artifacts in the visual field can be caused by all the following, EXCEPT for ./ TR &F

# rHTueeur (nfétreacy) Frafafad § & frad oo 98 a1 22
1. The dilated pupil / el €% gae

2. Overhanging brows / YD dAch! E_st %I% (sha@ﬁﬂ Eﬁ)
3. Frame of spectacles /I8 & T

4. Cataract / Iﬁﬁmm
Correct Answer :-

« The dilated pupil / Hcit g3 gael

3) Which of the following statement is CORRECT about the identity of an unknown lens when
viewed through a cross made up of two lines crossed at 90 degree? / Y 3AITd A B Ugard & IR
# frafafed & | o9 |1 $Y9 9@ g1 7, 919 90 f$3t W gt ¥ansit & ufawseq @ ffifa wia
B AT ST B2

1. There is no distortion of the cross if the lens is spherical./zl'% NREINIE] % A HIg H ?ﬁg ﬁ?ﬁ[ :@T
g gl

2. An astigmatic lens always causes distortion of the cross./31lr§i§50h AT ged HIg B W DI HRU
AT

3. 'Scissors' movement of the cross when the lens is rotated suggests the lens is Astigmatic. /SId o

AT ST § 9 19 B ‘<t ol YaHe HaTd HIdl § [ o 3ifeig® g
4. All the above / SURIGd GHT

Correct Answer :-

« All the above / SURIad IHT

4) Ectopia lentis is seen in . | AH-SRYTT (qwﬁﬁm éﬁm G| ¥ g@r
ST g

1. Tuberculosis / &3 AT

2. Marfan syndrome /Wﬁ@ﬂ
3. Syphilis / RIwfe g

4. Malaria / TRl

Correct Answer :-

« Marfan syndrome /Wﬁ@ﬁ
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5) The volume of orbit is ./ ﬁ?l'ﬂBT T iAo %I
1. 50cc
2. 30cc
3. 40cc

4. 60cc

Correct Answer :-
e 30cc

6) Cortical color blindness results from damage to area . /Hﬁﬁﬂ'q quf S{dT,

i ¥ afoored 9 F URUTRGET T 81
1.v1
2.V2
3.V4

4. V8

Correct Answer :-

e V8

7) Sarcoidosis has been associated with all the following pathologic findings, EXCEPT for .

m?mmﬁﬁﬁﬁw,mwmﬁwﬁ@hﬁmmﬁ)ﬁ
TG 82

1. Neutrophils response / SGRI-YSH Hfdfham

2. Asteroid bodies / UfgeT BT

3. Necrosis / S dh &

4. Forein body type gaint cells / dTgl fis ypR o fazma ﬁw

Correct Answer :-

» Neutrophils response / Jarisi ufafear

8) Which one of the following statement is CORRECT about the direct ophthalmoscope? / Ud&l

Aued < & fawy & f=fafad goaa & 9 919 91 39 82

1. It gives an angular magnification of 15X. / dg 15X I HIUNT 3Taef UeH Ha1 3|

2. It makes the disc of a hypermetrope larger than that of an emmetrope. / & SlaqU}I g\lu P! & &

e B 5% q seT PR AT R
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3. It is better than indirect ophthalmoscopes in detecting diabetic maculopathy. / Ug I{‘l‘:[ﬁ_s' wzﬁ al
qdT @A H S A0 &2 I SgaR 3

4. Tt gives virtual image. / T8 ATHRY fST Ug™ SR B

Correct Answer :-

« [t gives an angular magnification of 15X. / dg 15X I DI I UeH R gl

9) Which is the flowing statement is CORRECT about the keratometer? / A USTATYL

(@P¥arHeR) & fauy A fAeafefed & @ &9 91 $yF 99 82

1. In the Javal-Schiotz instrument, the object size is fixed. / W—ﬁﬁ:ﬁ?\'ﬂ BER: a¥d pl HhR faa

BT gl

2. In the Javal-Schiotz instrument, each step of the mire is equivalent to 1/2 a diopter. / W—ﬁT\’rhE\TSf 7
H, AR BT IS ORI, % SER & SRISR 51l 5|

3. Von Helmbholtz instrument uses rotating glass plates to double the size of the image. / CIG] %F%PIRTFT

7, T F SHTHR B ST B & oW H10d BT gHA aTa W BT SUTNT HRal 8

4. The power of the cornea is equal to 333.5 divided by the radius of curvature in mm. / Ydqucd &1 LJ\IJGR,

333.5 %] gehdl B! Ao I fAHTRIT B B, & SRR it g

Correct Answer :-

» Von Helmholtz instrument uses rotating glass plates to double the size of the image. / CI5] %F@RTYT

7, {9 & SMHR B ST B B [T BT 9 B A A6 Tl BT ST HRal 8|

10) What is the percentage of normal eyes that will have a cup/disc ratio greater than 0.3? / Q?ﬁ

T 3T-@ T 1 ufa=id g o 0.3 9 sifte su/fews srqura grm?
1. 5%
2. 12%
3. 18%

4. 26%

Correct Answer :-

o 18%

11) The best way to check the optical centers of eyeglasses is to . | I & UPTIR® b5

DI 1T HIA BT HAXTS AHDI gar gl

1. Use a clear plastic ruler to find the geometric center / ST % I B B f%fq Uch W
TAIRED X BT SUART BT

2. Use the lensometer with India ink marker / E%QTI 63 HAIHR & 1Y AGHIeR BT IUTNT HAT
3. Use keratometer / Tqw@UCaHTU (a%|§é|ﬂ|a> BT ST HAT
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4. Calculate them from refraction / 31 TUMFT 3{Udd & 1Y HIAT

Correct Answer :-

e Use the lensometer with India ink marker / 5’%5“ 33’7 IIW & ITY AGHIER BT STANT HAT

12) Which type of photoreceptor is best able to process bright light and colour? / 5y &1

UBTITE!, TAASS U A THSD el YPT 4T T Y Yshfird HdT 82
1. Todopsin / TSI
2. Rhodopsin / REIIEE]

3. Cone / TP
4. Rod / RAIIhT

Correct Answer :-

« Cone / RiPp
13) The most frequent loss of optic disc neural rim tissue at . | Sifd-aferer dfer
FE fFTR & SHas 1 Faifis g™ W FaT g1

1. Superior nasally / SEadl 1% I (ﬁw aﬂ?ﬁ)

2. Superior temporally / Sedadf (ﬁw %ERT“ﬂ)
3. Inferior nasally/ 3{ Qhﬁ'@ % ¥ (s"trﬂﬁm W)

4. Inferior temporally / 31 W ST ( SHINTR %mﬁ)

Correct Answer :-

« Inferior temporally / 3 W ST ( SHIRAR m)

14) Which one of the following statement is INCORRECT regarding in a patient who has had

vitreoretinal surgery? / ﬁa\}iﬁﬁqﬁ Ioidl HIaM ara 37 & faug A Frafaf@a A S s
YT ITA 82

1. Buckling causes a hypermetropic shift. / ST & HRUT g@@ﬁm fqRmA grar g |
2. Buckling induces astigmatism. / STa €Y IHRIAT &1 IR Hal |

3. Cataract formation is a common complication with macular hole surgery. / ﬁw B Tord § g arent

I Sfeerar Aifaanfeg g |

4. Injection of air into the vitreal cavity of a phakic patient causes a myopic shift. / Hire I 3t

qISfead a1 § arg &1 3id: 80T (FoiaRH), AU faRITE &1 HRU a1 § |

Correct Answer :-

« Buckling causes a hypermetropic shift. / TG & HRUT IZURHC U IR BT & |
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15) The procedure of choice for infantile glaucoma is . / Q=T TABHT a?ﬁlqa'ﬂu
ufsear gl

1. Goniotomy / Miarerdt
2. Trabeculectomy / Wﬁtﬁ

3. Cyclocryotherapy / mw
4. Goniopuncture / HIBEIEEER

Correct Answer :-

» Goniopuncture / HIBCIEEER

16) An eye with amplitude of accommodation of 5 diopters has a near point of 20 ¢cm, than the far
point of this eye is_ ./ 5 ST & JH P ATATH qIell T 319 BT fwead! fag 20
It 8, 91 39 TG BT I fg Huil

1. 33-1/3 cm in front of the eye / 3T & T[T 33-1/3 T,
2. 20 cm in front of the eye / AT &b JHY 20 I,
3. At infinity / 3Fd TR

4. 20 cm behind the eye / 31" & Uiy 20 L.

Correct Answer :-
« At infinity / 3d IR

17) Which acute bacterial conjunctivitis is not associated with polymorphonuclear response? / e

# ¥ oI I1 fitg s ifaa o= 2y, uidaTe g ufafear @ Jas T8 32
1. Staphylococcus aureus / ?@77973'@?37?3?_\’7 3R
2. Staphylococcus pneumoniae / @7773@?5’7?3”_\7 AT

3. Hemophilus influenzae / IR W@\Tﬂ
4. Moraxella lacunata / TG éﬁa

Correct Answer :-

e Moraxella lacunata / TR éﬁa

18) Diagnosis of bacterial disease can be made by ./ \_rﬁﬂ'lw HUEIRE L]
¥ gRT far < aFar B

1. Finding bacteria in pathological fluids / ﬁ?ﬁl@ awal (Ef reroit TJuEN) H SR &1 uar @ B

2. Isolation of bacteria by culture from exudates or blood / T:¥HTd T I T e & g Gﬂmq &
[ERIEE!



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3. Both A and B / T AT &t G

4, None of these /s:lﬁ I ﬁ_sc '_'Eﬁ

Correct Answer :-

e Both A andB/Qa?-ﬂabfa:ﬁ

19) All the following is specific indicator for cycloplegic refraction, EXCEPT for .

fFrafafea § @ f5a srewr, Au Tt arswiwfcme sruad= & fafkne gue @2
1. Accommodative spasm / fAymat enam
2. Contact lens fitting / et oy fsfe (?b—lvé_cﬁ_' o W’I‘)

3. Hyperopia / g€ Sl (mﬁﬂ'[)
4. Strabismus / WO

Correct Answer :-

o Contact lens fitting / TR o fopfe (EIO—\I%?E' o ﬁ‘TﬁTI)

20) The thickest area of the sensory retina is found in the vicinity of the ./ Fdd) Ef¥uea

e e iRy, FAeGdeumeEarsl 00
1. Ora serrata / 3{RT YRTCT

2. Equator / 3FdeX (e 34T

3. Fovea / TTfclepT (Wifaam)

4. Optic disc / 31f&f-Tfeh a1

Correct Answer :-

« Optic disc / 3Hf&-TAfhHT

21) Which of the following statement is CORRECT about colour vision testing? / quf 'd%uﬁ&rur ®

faug & farffed § @ &9 91 339 9d 82

1. The Farnsworth-Munsell hue 100 test contains 84 colour discs. / Wﬁ-w quf 100 TRi&OT O, 84

gof f&% gidt B

2. The colours of the Farnsworth-Munsell hue 100 test differ in hue and saturation. / W“’f—w quf
100 TRT&(0T & T, 907 U9 A & =1 g1 €1

3. Ishihara test plates cannot be used by pre-verbal children. / SIRIGRT URI&T0T U@IC\(—I, SIENIECAC S RAR

Ugad 8] P off Yl g |

4. Ishihara test plates are designed mainly for congenital red-blue colour defect. / gIRIGRT TRI&TOT @Eﬂ,

T U J Sl drd--iell a0t fapfa & e Jar &1 18 7

Correct Answer :-
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» The Farnsworth-Munsell hue 100 test contains 84 colour discs. / Wﬁ—w quf 100 Gteror 4, 84

guf &% gidt g

22) Irrespective of the etiology of a corneal ulcer, the drug always indicated is

AAUCHIY BT & ogfauT 4 TG ¥ed g, Hea Waﬁmﬁﬁﬁﬂ?’l
1. Corticosteroid / PCHILRIZS

2. Atropine / TCIU

3. Antibiotics / Ufcrolfad (TeTamfea)

4. Antifungal / HABAL (TCTHITA)

Correct Answer :-

» Atropine / QEj'lﬂ:f

23) Using a schematic eye, what will be the size of 20/200 letter on the retina when viewed at 6

meters? T AISTES 3T-W BT STANT HId §U, 6 HIex Bt gl I 3@ W W 20/200 &R BT
AT R MBI FT T2

1. 0.1 mm /0.1 foT.
2.1cm/ 199,
3. 0.24 mm / 0.24 Toret.

4,0.5mm/0.5 ﬁﬂ:ﬂ

Correct Answer :-

e 0.24 mm / 0.24 oA

24) Which is the following statement is CORRECT about the techniques used in slit lamp? / e

o # ygad 819 arell aeiel & fawg # frafafea # 4 S ar sy aa 82

1. Diffuse illumination is best for visualizing iris atrophy. / SMARY &fordT & ¢E & for faafd Teifad
49 B

2. Lateral illumination is best for visualizing the anterior capsule. / 3adf Tge B ¢ & fog arsf
TRt 9d9S B

3. Specular illumination is best for visualizing the epithelium. / 3UD Al (@@ﬁmﬂ) CARACR AN Y
THD N UEIT A9 |

4. The light and the microscope are co-axial in retroillumination. / BECIELA TS| (@3@1&@'@7‘[) ERvCAN|
a1 YeHe J5-3afia gid €|

Correct Answer :-

« The light and the microscope are co-axial in retroillumination. / TRIHSII (Q@EFI&I%QF[) BN
YT YeHaRT wE-31efa gid g |
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25) The light reflex of pupil ./ W Cal m'ﬂﬁlﬁ, -

1. Involves the superior colliculus / Sdadl au i GGl %I

2. Involves the occipital cortex / AJh Ul dep '-'EIT&W’T@?IT %l

3. Is impaired in patients with unilateral cataract / QEFEIT% ﬁﬁmﬁg arel A # effor _Eﬁ?” %l
4. Is impaired in patients with unilateral squint / QEFQT% WY g1l A | eftor grar %I

Correct Answer :-

» Involves the superior colliculus / SEad! ay e GGl %I

26) All the following will tend to seek early help for presbyopia symptoms, EXCEPT for

/ Frfataa ° @ f5a sieor v Tt o sRigrete & demi & fore e agraar «t .
STIHAT gHIT?

1. Short person / Bl Afad

2. Hyperope / m Rl

3. Myope / Frepeefte Jh

4. Contact lens corrected myope / TR o= R Feeete Ief

Correct Answer :-

» Myope ) Fpeefte

27) Which of the following statement is INCORRECT with regard to optical radiation? / UhTRTI

fafeevor & ded & frr=afafaa & @ &9 91 939 a2

1. The wavelengths of visible light liec between 400nm and 780nm. / GR 1T UehTRI B a8 Ié?ﬁ, 400 nm I
780 nm & 9 B B

2. Ultraviolet A has a shorter wavelength than ultraviolet C. / RIS I Bt [NSEI T RIS T DI
aaree il eIt 81

3. The shorter the wavelength the higher the energy of an individual quanta (photon). / foddt foriw aatfer
(WBYer) B a1 BT aiee gidl 8, ISP Foil 31 & I Bl 8

4. The human lens is better at absorbing shorter than longer wavelengths. / AHdg @fﬁ, SEl El?"léﬂfﬁ
30T Bt e Bl 95k o1 I T B & |
Correct Answer :-

« Ultraviolet A has a shorter wavelength than ultraviolet C. / RIS Tt B SEL o WIS T
aaee BIet g 31
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1. Staphylococcus sp. / Qcm@ﬁao—ﬂ Qﬂ'qo[
2. Meningococcus sp. / oMo iey Tadl

3. Haemophilus sp. / %Tmﬁ?_('m Wtﬁ
4. Moraxella sp. / BN Lgs ]|

Correct Answer :-

« Staphylococcus sp. / @Tb—l%?ﬁﬁw eS|

29) In glaucomatous eyes, the horizontal cup/disc ratio is greater than 0.3 in

of cases. /

AT S Ifd sl H, aral ¥ gfafore wu/fee srurd 0.3 3 ofw giar 81

1. 23%

2.35%

3. 55%

4. 82%

Correct Answer :-

82%

30) A retinoscopy at 67 cm gives you a +3.0 at 120° axis and a +5.0 at 30° axis, what is the resultant
spherocylinder that you would use for the patient? / 67 GHI. U U IfeAIEPHIUT TIDI 120 A
38 TR TS +3.0 TUT 30 3 W TP +5.0 31 8, I & € vgea a1 aran ufomdt Merer

R UGINEIE K
1. +3.0=+5.0 x 30°
2. +5.0=+3.0 x 30°
3. +1.50=+2.0x30°

4. +5.0=+2.0x 120°

Correct Answer :-

e +1.50=+2.0x30°

31) During fogging, the patient reports that the line from 1 o ‘clock to 7 o ‘clock is sharpest. At

what axis would you add minus cylinder? / BIRIT & GRT, AN SraTd ST e fF 1 T F 799

FI Y@ Jaify® o g1 39 Argay fuferss 5 aref v s

1. 90°

2. 60°

3. 30°
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4. 120°

Correct Answer :-

30°
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32) Chalazion is a chronic inflammatory granuloma of

&1 TP SIS =Y I=gara B
1. Meibomian gland / EIESIEIRID]
2. Zies’s gland / Sitet 1 UfYy
3. Sweat gland / Tdg Ui
4. Wolfring’s gland / GG ARIR

Correct Answer :-

e Meibomian gland / ]:I'I_&SEmﬂ PIR|

33) Topical atropine is contraindicated in .| R Q@Tﬂ:{ H ufafese
g1 gl

1. Retinoscopy in children / geal § feAaRaIdt

2. Iridocyclitis / SRSATSGARCH
3. Corneal ulcer / TATICAHIT BT

4. Primary angle closure glaucoma / TSART UTd AR Toleh T

Correct Answer :-

» Primary angle closure glaucoma / PIEENRNESISERNIEIL]

34) In the presence of corneal edema, the best instrument to measure the intraocular pressure is
the

./ TAdUCHT T Bt IufRAfT |, 3ia=Tfar era & ATy & forw adas a3

1. Hand-held applanation tonometer / 81 T YT S aren ‘I@ﬁ?ﬂ R

2. Schiotz tonometer / ﬁﬁh—d\\_ﬂ CIFHTER
3. Goldmann applanation tonometer / Meed™ @ﬁm TR
4. Macky Marg tonometer / A AN eeR

Correct Answer :-

» Macky Marg tonometer / APt AN IR
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Which laser is used for capsulotomy? / e e (PRgaterdl) & forg fora dur &1 Iuai fowan
ST 87

1. Diode laser / SIS TR

2. Carbon dioxide laser / BTE Wﬂm AR
3. Excimer laser / 3alolgdl ToR

4. ND:YAG laser / G@f: a'l_SEQGﬁ @WYR

Correct Answer :-

« ND:YAG laser / GISl: ATSUSI ok

36) Which one of the following statement is CORRECT about the herpes zoster virus? / T Fex

s & faug A for=fafaa & @ &9 91 $y= I8 82
1. It is a RNA virus. / I8 U 3RTT dRRY g

2. It can be inactivated by the administration of acyclovir. / 3@ &msa%hﬁ? &1 ufate b ey fear
S FehalT 2|

3. Shingle resulted from primary infection of herpes zoster virus. / i d, 6b{-‘|. SIRER CIERSS| & TS

TehHUT &b GRUTHERSY Bidl ¢ |

4. It remains in the liver of patient with previous infection. / g AN b ghd | WW & 1Y
EA B

Correct Answer :-

« It can be inactivated by the administration of acyclovir. / X TSI B Ufdte Hb Hispy fear
EIRCIE]

37) Which of the following extraocular muscles can perform intorsion of the globe? / frfafea o

q i Wt siféraTer AR, Trae & guTa (T $ eIRM) BT froare o) aadl 82
1. Medial rectus / HEIAd o] ULR

2. Superior rectus / & Fo] URN

3. Inferior rectus / T 9] U=

4. Inferior oblique / T fodes

Correct Answer :-
* Superior rectus / Eﬁﬁ?ﬁﬂ Uit

38) Which of the following anatomic features has the strongest correlation with refraction? /

frfafad °§ @ 19 F e faRivdr &1 sruad= & 91y yaadyq gg-deY g1 82

1. Axial length of the eye / 3T @1 fefia gt
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2. Anterior chamber depth / 3Tl B P TI_E»'TI_EC
3. Corneal power / Tdduedyg ad
4. Lens power / GREUES]

Correct Answer :-

« Axial length of the eye / 31T @Dt el ?Rbf

39) A 4-PD, base-out prism is placed in front of a patient’s right eye while the patient fixates a

target at 6 meters. A small shift of both eyes to the left is seen. This may indicate

/ U 4-PD, S9-313¢ FisH IOt &1 a1 3@ & qHE @1 g, Fafp I 6 Hiex R TP e’

fRR Far 1 A1 e @t &1 91 3R ATgel! faeTu= & war 81 9%
g&ar g

1. Scotoma at the macula OD /ﬁm TSt TR Wil
2. Scotoma at the macula OS /ﬁw m TR WHICHT
3. Convergence insufficiency / RN SUafedr

4, A normal test results / JTHY qﬂ&‘I'UT IRLIEE

Correct Answer :-

e Scotoma at the macula OS /ﬁm 3ITY W WIcHHT

40) The most characteristic visual field changes seen in many open-angle glaucoma is

BT gD gl

P ST THTAT & ST ST ATeT ST St T A ufad. '

gl

1. Sector shaped defect / & 3THR QY (Taex S [SHhae)

2. Enlargement of the blind spot / 3{¢ ﬁrg’ %1 faadq

3. Altitudinal defect / 3= fapfa a1 Sfa3e=dy fadia
4. Nerve fiber bundle defect / AfADBT dg dsd ﬁ?ﬁ

Correct Answer :-

« Nerve fiber bundle defect / AADBT dg dsd m

41) A scotoma viewed on tangent screen at 2 meters is 20cm in its largest dimension, than what is

the size of the lesion on the retina? / ¥ G'T‘il&qa (ﬁ'ﬁa':ﬂ), Weif whl W 2 Hiex [13 ¥ U I

TS fawrR # 20 . feman 2, 9 W@auea @if~an) R fafa &1 R Far ghme
1. 4.0mm / 4.0 T,
2.2.3mm /2.3 T,

3. 1.7mm/ 1.7 &Y,
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4, 7cm/ 7 @'Jﬂ

Correct Answer :-

e 1.7mm/ 1.7 THY,

42) A painful, tender, non-itchy localized redness of the conjunctiva can be due to .

AT Bt FSTETaD, Goargeied, RIS AMHT & SR giet g1
1. Bulbar spring catarrh / hGIhR LR

2. Episcleritis / SfTddyca=ny (sﬁﬁ%m)

3. Vascular pterygium / BERRIRRCEAET

4. Phlyctenular conjunctivitis / m AR =Y

Correct Answer :-

« Episcleritis / 3fURITUCARNY (STURFRIS™)

43) An aphake will see an increase in image size of ./ Eﬂiﬂﬁﬁﬁ, &

yfafars PR A delasl q@|
1.5%
2. 10%
3. 30%

4. 35%

Correct Answer :-

44) What is the most frequent problem related to the use of topical pilocarpine? / ILES]

TSASTI F TGN | HefRa Faffe TR-ar M arel Towr &1 82
1. Cataract / FfaTag

2. Iris cysts / 3TN Yeb

3. Visual blur / 3% § gl

4. Ciliary congestion / U&HTYH Hpaid]

Correct Answer :-

« Visual blur / o8& I S
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Because of their lack of vascularity, which tissue is known to heal quite slowly? / P A1 SHdd

AT SFRRAT (@pafdh) Ft FHl & PRI Iga MR- 19 W=A & 9 o131 =ra @2
1. Epithelial / SUDH

2. Fibrous connective / dqdad qdIsid

3. Muscle / U

4. Bone / 31y

Correct Answer :-

« Bone / Y

46) Which is the following statement is CORRECT about the retinoscope? / W%ﬁw |

frefafed § @ 919 91 $YF I3 82

1. Two mirror systems are used: the pane mirror and the convex mirror. / %—E"CYUT oSl & CIELF] E('TfUT
JUT IId U BT YA BT ST B

2. The neutral point occurs when the patient’s far-point coincide with the observer’s nodal point. / SId I

1 X fdg Tddere & gy fdg 3 Furd §idl ¢, d SarfH foig urar S g1

3. An ‘against’ movement always indicate hypermetropia. / Y fawdta fa ‘v'léa Srefefee
(BTSURCITUT) &1 Yo Bial 5|

4. A with movement always indicate astigmatisum. / Ueb &1 fa=T arelt TIfd Wod eDITR BT gaH gial
g

Correct Answer :-

o The neutral point occurs when the patient’s far-point coincide with the observer’s nodal point. / SId |

1 X feoig Tdideres & U fiig I YTl gidl ¢, d I foig uran Siren 8|

47) The intraocular pressure should be measured in all . | SfTaRT e g19 &1 HTYA,
it # foran e anfgel

1. Patient over 50 years old / 50 GL S qral A

2. Patient over 40 years old / 40 Iy q HY S CINEURR]

3. Patient over 30 years old / 30 v ¥ 3ifIFH Y CIGEURR]
4. Patient who can cooperate / ﬂ%'ch'rf B G aral AR

Correct Answer :-

 Patient who can cooperate / TN B A+ aral ARl

48) Which of the following has the greatest refractive power? / frrafafaa # 3 fead gaffie
Jqad fad gl 82

1. Anterior surface of the cornea / XAAUCH (El?\llﬁm) CIRDERI de
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2. Vitreous / hTdIYH
3. Anterior surface of the lens / A9 ] \}I'ﬂa?ﬁ qdg
4. Posterior surface of the cornea / ¥ddUed (ﬁﬁm) BT UREad! YT

Correct Answer :-

« Anterior surface of the cornea / TddUCd (El?\llﬁm) P 3Tl dg

GET IT ON
Google Play

49) The volume of aqueous in the anterior chamber is

W T TEa & 91
1. 0.01 ml/ 0.01 fHet,
2.0.10 ml /0. 10 Ty,
3. 0.25 ml / 0.25 foret.

4. 0.50 ml / 0.50 THe.

Correct Answer :-

« 0.25ml/0.25 fHet.

50) The sure diagnostic sign of corneal ulcer is

A e efieaean d«rgl
1. Ciliary injection / U&HTH ESERE]

2. Blepharospasm / JHBY

3. Miosis / TSR

4. Positive fluorescein test / THRIHD TR TRIEUT (Tifolcd TR <)

Correct Answer :-

« Positive fluorescein test / THRIHD FAR T URIE0T (Tfolicd FAREE <)

51) In normal eyes, the difference in intraocular pressure between the two eyes rarely

exceeds

2. 2mm Hg

3.4 mmHg

4. 5mm Hg

Correct Answer :-

e 4mm Hg

./ TqTETY 3T H, g oWl & Heh SfiaxTies o9 W 3ia¥ giwwa |
¥ it grar 31

1. 1 mm Hg
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52) Which one of the following statement is INCORRECT about contrast sensitivity? / famata '\TJITI%?IT

& T # frafafea 3 9 o9 91 o9 sa 32

1. Measures the eye’s sensitivity to light. / oW BT USRI & U ﬁ'ﬂﬁ%?ﬂ %1 U AT 5 |
2. Is inversely proportional to contrast of image. / gfafds & fauafg & qu_rﬁ giat g
3. Can be measured with Snellen's chart. / T & IIC &b IR AT ST IH % I

4. Can be measured with VISTECH. / [d%¢® & gkl AU ST bt %I

Correct Answer :-
» Measures the eye’s sensitivity to light. / AW BT UHT & Ufd g1 gl BT HIU- Hdl %I

53) Which of the following statement is INCORRECT about pinhole? / ?{zﬂ%‘;{ (ﬁqa?l') ¥ fowg A
frafafea ¥ & o9 91 o3 saa 82

1. If less than 1mm diameter, impairs the image quality. / gfq 1 fiedfl. e @ & e %, dr gfafdd &1
U faFd R ST B

2. Abolishes the need for the eye to focus. / 3" P %Etbﬁw P DI SR I AT Bl %I
3. Increases the depth of focus and field. / TIHY TUT Bles B 7 EQIé Cal del odr %I
4. Improves ametropia of less than 6 D. / 68l ¥ ®H P UATH P Bl HFH~d Dl %I

Correct Answer :-
o Improves ametropia of less than 6 D. / 6ol § ®H Ve SUATH P Bl HH~d eXdl %’I

54) Cornea is supplied by nerve fibers derived from ./ XAdUed (H”T‘Ilﬁm) G| I
A, dFABT dg B GIRT MYfd B St B

1. Trochlear nerve /ﬂﬂﬁmﬁﬁm
2. Optic nerve / € GIECAN

3. Trigeminal nerve / U HUTd dAd]

4. Oculomotor nerve / 3Hf&OR® dAHT

Correct Answer :-

e Trigeminal nerve / UgH HUTd ]

55) The fastest acting cycloplegic agent is ./ TR o P B arar m’@m
Tole 2l
9

1. Atropine / Q_@tﬂ:f
2. Homatropine / g IIIE;Ald B
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3. Cyclopentolate / mﬂa@?
4. Tropicamide / ‘cj'ﬁ%:lﬁ@:

Correct Answer :-

o Tropicamide / ;Tfﬁémﬁs'

56) Which of the following statement is CORRECT about tinted lenses? / g a9 & faug A

frefafed § @ 919 91 339 99 82

1. The lenses always change colour with light. /ﬁg, UDIRI L‘IS,:I W ‘HEOI RUK GG %l

2. They work by either absorbing the light or reflecting the light. / 3 1 A BT & SN0 gRT BT
$Hd § N YBTR & WRIac §RT B R g |

3. Transmittance curve of a tinted lens measures the percentage of light transmission for each wavelength.

/ I A BT URITHIT I5p, U el & ot UehTRI ORI b1 Uf=Iddr T HIU- Bl ¢ |
4. Both B and C / 8t U1 I} g1

Correct Answer :-

« Both B and C / & a1 T G

57) Choleraoccursin ____ form. /%\_rIT U H gl %I
1. Endemic onIy/WW

2. Epidemic only / Wm

3. Sporadic only/ R Hema®

4. All the above / JURTS T

Correct Answer :-

« All the above / SURTad T

58) Weight of adult eyeball is . | 9% fed & AT-MNAD BT gol grar gl
1.6gm/6UMH

2.8gm/8UH

3.7.5gm/ 7.5 99

4.10 gm/ 10 919

Correct Answer :-

« 7.5gm/ 7.5
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59) Dense scar of cornea with incarceration of iris is known as . ansﬁv %a—cﬂw &
1Y ATUCH (PI1AT) BT g7 f2rm, & 99 | Y ST Srar 21

1. Adherent leucoma / Wﬂ?ﬁw
2. Dense leucoma /WW

3. Ciliary staphyloma / U&HTH RBIEAH
4, Iris bombe / Gﬂ%ﬁ? GIES|

Correct Answer :-

e Adherent leucoma / %ﬁw

60) EXCEPT this, all the following substances can be found in relatively large amounts in the

aqueous humor under normal condition. / ATHT fRuferat o C| @W, Ay Faft
frfafEa verd toaw gowr # srdemea Wkt | § e T 7

1. Bicarbonate / a*rs“aa"ra‘fﬁ‘c'

2. Hydrogen ion / E'IE@GFT ST
3. Protein / UTeiA

4. Chloride / FRTSS

Correct Answer :-

e Protein/ En?ﬂ_"f

61) Which of the following refers to the amount of light arriving at a given point? /frafafead d

w1 fordt fiig W oA aTat wepT=r @6t | @Y wHefila @2
1. llluminance / TSIl 9@

2. Brightness / Eg!ﬂ?f

3. Shininess / dH®D
4. Trradiance / TRUM

Correct Answer :-
e TIlluminance / USIGl 9@

62) The amount of binocular disparity of an object is proportional to WAL XL | @t %ﬁiﬁ

SIEHTT P A, & FHTIUT! B &1
1. The distance of the object from the fixation point / fRRUT %Rj q a¥d il Q’\ﬁ
2. The distance of the object from eyes / d¥J Dt Mo\ A @

3. The absolute location of the object in the space / 3{cRTdl H ad Gl U;Uf@ﬂ%f
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4. The position of the object relative to the optic disk / 3feyafhepT o ATUe a¥d 3! fRufd

Correct Answer :-

« The distance of the object from the fixation point / FRURTI ﬁ—gr q a¥d il §2°r

63) How would you distinguish Pseudomonas species from E.coli? / 3T4 i-ﬁ?rré Ll aq\?ﬁﬁﬂm
yerTferal @t $ fadfea w3

1. Gram staining / ITH SRS
2. Morphology / STHTRDI (m]ﬁﬁ)q

3. Glucose fermentation versus respiration / ‘ijdﬁﬁ U s Tag
4. All of the above / JURIe Fit

Correct Answer :-

e Glucose fermentation versus respiration / ‘Ffdﬁﬁ[ U 9 Tag

64) Which one of the following statement is CORRECT about visual acuity? / ﬁ-ﬂm * W‘-f H

frrefafaa § 9 19 91 49 99 82

1. It can be represented by a reciprocal of the minimum angle of resolution. / 3@ foarem & gAdH CALY|
& ehY gRI AR foar o Iahdn 31

2. Varies with the region of the retina. / e & &q®H WWW%’%W Eﬁ?‘ﬂ %I
3. It is affected by general illumination. / I8 TTHTRI TSIty & GHIfAd Bldll B
4. All the above / SURTGd IHT

Correct Answer :-

« All the above / SUIad IHT

65) Which one of the following is INCORRECT with regard to light scattering? / UPIRI UHIof & Hay

# frafafaa # @ o9 |1 9 7o 82
1. Tt does not occur in vacuum. / I8 fAafd & gfed 78} g1 31
2. It is proportionally to the wavelength of the light. / dg BT & a1 & ﬂtﬂ_j'q-l?ﬁ garg|

3. Vitreous is best viewed with light of short wavelength as it scatters more. / B aoTee ard UHT a,
HTATH BT FIIS ¥ J G- S Ghdl ¢ Hilfh Ig P Feb1Toid gidl 5|

4. The cornea scatters about 10% of the incoming light. / Tddged (EI?\IJﬁQT), 37T ITe] TehTRT &1 TRTHT 10
Afc=Td Yepifofd el 5

Correct Answer :-

« It is proportionally to the wavelength of the light. / dg YHTI & ailed & ﬂtﬂﬁcﬂ?ﬁ grar %l
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66) A common side effect of carbonic anhydrase inhibitor is ./ WWW@W
UIGRIYDT BT AIHTT GEHTT gar gl

1. Keratoconjunctivitis sicca / PrcIpogeraied Ryamr
2. Corneal change / Aqucarg (ﬁﬁcﬁ‘l‘) gRad=

3. Increased potassium level / Sgl 3T Trefmm &1 wrR
4. Gastrointestinal disorder/mﬁqm

Correct Answer :-

 Gastrointestinal disorder/mﬁqm

67) To examine the general population for corneal astigmatism, one would most likely

find . / T HTHTY P! TadUCH g SfYaus] &7 RIeu #+ & forg, 3ad
T P Falfie FHTaT 2|

1. Against-the-rule astigmatism / \Hﬁ@ﬁ’[ o & favs
2. With-the-rule astigmatism / 3@@%’[ e & SR
3. Irregular astigmatism / Sfafia S{W

4. Oblique astigmatism / IGRED @m

Correct Answer :-

« With-the-rule astigmatism / 3ffeigerdl a9 & SIR

68) The most common early symptoms of simple open angle glaucoma is ./ Riva enu= L |

TAIBIHT PT Al s JTH RIUS d&0r,  gar 3|
1. Eye ache / AW BT a6

2. Scotoma / ThICHT

3. Brow ache / Hi &g

4. Blurred vision / Yl ¥

Correct Answer :-

« Blurred vision / §teil =¥

69) Which of the following transposition is CORRECT? / fer=Ifeifad & & &9 & fawdy
@ AUfRE) 98 82

1. PL /-2.00 X 180 =-2.00 / +2.00 X 90

2.2.00/-0.50 X 60 =+2.50 /+0.50 X 150
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3.-1.25/+0.75X 4=-0.50/-0.75 X 86

4. +7.00 / +2.00 X 78 =+5.00 / +2.00 X 168

Correct Answer :-

e PL/-2.00X 180=-2.00/+2.00 X 90

70) Instrument used to examine retina is . /iﬁ‘—n CIRSIE] W & 'I%I'Q' Eﬁmﬁ fomar
ST ardr SUHT g1 81

1. Retinoscope /feAR®IT

2. Keratometer / Tqw@UC AU (wm

3. Tonometer / SIHIHIEX

4. Ophthalmoscope / Fucd a=if (Wﬂ)

Correct Answer :-

e Ophthalmoscope / Tued gt (Wﬂ)

71) The pericorneal blood supply is most directly served by the . TI-ad Yad

mgfef, & gRTwaifie U d Uda $1 ardl gl

1. Anterior conjuctival artery and the anterior ciliary artery / ST AT YA G Suac germeft
SEE]

2. Posterior conjuctival artery and the anterior ciliary artery / URd IO Y+ qT 3Rradf geamh
GEE]

3. Anterior ciliary artery and long posterior ciliary artery / 3ruadt germft et qur avar ue ueAmh
el

4. Posterior conjuctival artery and the anterior conjuctival artery / URd ARSI YHT TUT SRAa!
RELGLELEEE]

Correct Answer :-

 Posterior conjuctival artery and the anterior conjuctival artery / URd AFATAVT T qUT SR
FALAYUT YHHL

72) What is the power of the contact lens when it gets converted by a +12.0 D lens at 15mm from

the cornea? / TddUed (pif=iaT) A 15 fAf}. W +12.0 D FF & gRT FUdd 811 ardl Hidae A
T TR T gl 82

1. +11.50
2. +13.50
3. +14.0

4. +14.70
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Correct Answer :-

e +14.70

73) Which of the following statement is INCORRECT in very dim illumination? /ﬁﬁm s | ﬁ aﬁ'—r
T 99qa 9gd He Yot & a1 § 7Tad 82

1. The fovea is blind. / TTfciepT (WIf3am) e 3|
2. Vision is only black and white. /i’@, YH Td ad %I
3. Motion perception is not possible. / Tl TT&oT v g qﬁ%l

4. Depth perception is preserved. / TTe-dI W&I’UTWEIT‘T%I

Correct Answer :-

« Motion perception is not possible. / T Tr&roT v g qﬁ%l

74) What is the average volume of the orbit? / GW G| aﬁw HTAT |1 a?ﬁ %?
1. 6¢cc

2. 12cc

3. 24cc

4. 30cc

Correct Answer :-
e 30cc

75) Which of the following pigmentation of the cornea is due to melanin? / Tadved (H#E&IT) G|

frafafada § @ #19 A aufedarn, Aarfaa & sR g 82
1. Fleischer ring / IR R
2. Hudson-Stahli line / §SI--XCTgdl alg—

3. Ferry line / Tt NIES!
4. Kruckenberg spindle / Hha1 fsd

Correct Answer :-

« Kruckenberg spindle / =11 (GSH
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